
All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 

wheels. It contains 16/20 or 24 Screw or Nut, together with 4 aluminium center rings where required. 

 

MERCEDES 
CAR TYPE TYPE SIZE ET H / PCD CENTER WHEEL 

CODE 
KIT CODE NOTE 

A-KLASSE 09/2004 (Type 169) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.0 x 18 40 5 / 112 C.R. 501 808 002 095 457 664  

 505 8.0 x 18 40 5 / 112 C.R. 505 808 002 095 457 664  

 521 8.0 x 18 40 5 / 112 C.R. 521 808 002 095 457 664  

B-KLASSE 03/2005 (Type 245 - 246) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.0 x 18 40 5 / 112 C.R. 501 808 002 095 457 664  

 505 8.0 x 18 40 5 / 112 C.R. 505 808 002 095 457 664  

 521 8.0 x 18 40 5 / 112 C.R. 521 808 002 095 457 664  

 501 8.5 x 19 40 5 / 112 C.R. 501 859 002 095 457 664  

 505 8.5 x 19 40 5 / 112 C.R. 505 859 002 095 457 664  

 521 8.5 x 19 40 5 / 112 C.R. 521 859 002 095 457 664  

C-KLASSE 01/2007 (Type 204) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.0 x 18 40 5 / 112 C.R. 501 808 002 095 457 664 More aggressive 

 501 8.0 x 18 48 5 / 112 C.R. 501 808 003 095 457 664  

 501 9.5 x 18 40 5 / 112 C.R. 501 958 002 095 457 664 Rear Axle 

 505 8.0 x 18 40 5 / 112 C.R. 505 808 002 095 457 664 More aggressive 

 505 8.0 x 18 48 5 / 112 C.R. 505 808 003 095 457 664  

 505 9.0 x 18 40 5 / 112 C.R. 505 908 002 095 457 664 Rear Axle 

 521 8.0 x 18 40 5 / 112 C.R. 521 808 002 095 457 664 More aggressive 

 521 8.0 x 18 48 5 / 112 C.R. 521 808 003 095 457 664  

 501 8.5 x 19 40 5 / 112 C.R. 501 859 002 095 457 664 More aggressive 

 501 8.5 x 19 48 5 / 112 C.R. 501 859 003 095 457 664  

 501 9.5 x 19 40 5 / 112 C.R. 501 959 002 095 457 664 Rear Axle 

 505 8.5 x 19 40 5 / 112 C.R. 505 859 002 095 457 664 More aggressive 

 505 8.5 x 19 48 5 / 112 C.R. 505 859 003 095 457 664  

 505 9.5 x 19 40 5 / 112 C.R. 505 959 002 095 457 664 Rear Axle 

 521 8.5 x 19 40 5 / 112 C.R. 521 859 002 095 457 664 More aggressive 

 521 8.5 x 19 48 5 / 112 C.R. 521 859 003 095 457 664  

 501 8.5 x 20 40 5 / 112 C.R. 501 850 002 095 457 664  

 505 8.5 x 20 40 5 / 112 C.R. 505 850 002 095 457 664  

 521 8.5 x 20 40 5 / 112 C.R. 521 850 002 095 457 664  

C63 AMG 01/2007 (Type 204) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 40 5 / 112 C.R. 501 859 002 095 457 664 Front Axle 

 501 9.5 x 19 40 5 / 112 C.R. 501 959 002 095 457 664 Rear Axle 

 505 8.5 x 19 40 5 / 112 C.R. 505 859 002 095 457 664 Front Axle 

 505 9.5 x 19 40 5 / 112 C.R. 505 959 002 095 457 664 Rear Axle 

 501 8.5 x 20 40 5 / 112 C.R. 501 850 002 095 457 664 Front Axle 

 501 10.5 x 20 40 5 / 112 C.R. 501 150 001 095 457 664 Rear Axle 

 505 8.5 x 20 40 5 / 112 C.R. 505 850 002 095 457 664 Front Axle 

 505 10.5 x 20 40 5 / 112 C.R. 505 150 001 095 457 664 Rear Axle 

C-KLASSE 03/200001/2007 (Type 203) PCD 5 / 112 - Hub Ø66.5 – Screw M12 x 1.5 17 HEX 

 501 8.0 x 18 30 5 / 112 C.R. 501 808 001 055 257 664  

 501 9.5 x 18 30 5 / 112 C.R. 501 958 001 055 257 664 Rear Axle 

 505 8.0 x 18 30 5 / 112 C.R. 505 808 001 055 257 664  

 505 9.0 x 18 30 5 / 112 C.R. 505 908 001 055 257 664 Rear Axle 

 521 8.0 x 18 30 5 / 112 C.R. 521 808 001 055 257 664  

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 055 257 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 055 257 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 055 257 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 055 257 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 055 257 664  

C30 CDI AMG 01/200401/2007 (Type 203) PCD 5 / 112 - Hub Ø66.5 – Screw M12 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 055 257 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 055 257 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 055 257 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 055 257 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 055 257 664  

         



All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 

wheels. It contains 16/20 or 24 Screw or Nut, together with 4 aluminium center rings where required. 

 

MERCEDES 
CAR TYPE TYPE SIZE ET H / PCD CENTER WHEEL 

CODE 
KIT CODE NOTE 

C55 AMG 01/200401/2007 (Type 203) PCD 5 / 112 - Hub Ø66.5 – Screw M12 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 055 257 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 055 257 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 055 257 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 055 257 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 055 257 664  

CL-KLASSE 06/2006 (Type 216) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

* Except CL600 (380kw) 501* 8.0 x 18 30 5 / 112 C.R. 501 808 001 095 457 664  

 501* 9.5 x 18 30 5 / 112 C.R. 501 808 001 095 457 664 Rear Axle 

 505* 8.0 x 18 30 5 / 112 C.R. 505 808 001 095 457 664  

 505* 9.0 x 18 30 5 / 112 C.R. 505 908 001 095 457 664 Rear Axle 

 521* 8.0 x 18 30 5 / 112 C.R. 521 808 001 095 457 664  

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 095 457 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 095 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 095 457 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 095 457 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 095 457 664  

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 095 457 664  

 501 9.0  x 20 30 5 / 112 C.R. 501 900 001 095 457 664 Front Axle 

 501 10.5 x 20 40 5 / 112 C.R. 501 150 002 095 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 095 457 664  

 505 10.5 x 20 40 5 / 112 C.R. 505 150 002 095 457 664 Rear Axle 

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 095 457 664  

CL63 AMG 06/2006 (Type 216) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 095 457 664 Front Axle 

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 095 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 095 457 664 Front Axle  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 095 457 664 Rear Axle 

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 095 457 664  

 501 9.0  x 20 30 5 / 112 C.R. 501 900 001 095 457 664 Front Axle 

 501 10.5 x 20 40 5 / 112 C.R. 501 150 002 095 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 095 457 664 Front Axle 

 505 10.5 x 20 40 5 / 112 C.R. 505 150 002 095 457 664 Rear Axle 

CL65 AMG 06/2006 (Type 216) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 095 457 664 Front Axle 

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 095 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 095 457 664 Front Axle 

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 095 457 664 Rear Axle 

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 095 457 664  

 501 9.0  x 20 30 5 / 112 C.R. 501 900 001 095 457 664 Front Axle 

 501 10.5 x 20 40 5 / 112 C.R. 501 150 002 095 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 095 457 664 Front Axle 

 505 10.5 x 20 40 5 / 112 C.R. 505 150 002 095 457 664 Rear Axle 

CLC-KLASSE 03/2008 (Type 203CL) PCD 5 / 112 - Hub Ø66.5 – Screw M12 x 1.5 17 HEX 

 501 8.0 x 18 30 5 / 112 C.R. 501 808 001 055 257 664  

 501 9.5 x 18 30 5 / 112 C.R. 501 958 001 055 257 664 Rear Axle 

 505 8.0 x 18 30 5 / 112 C.R. 505 808 001 055 257 664  

 505 9.0 x 18 30 5 / 112 C.R. 505 908 001 055 257 664 Rear Axle 

 521 8.0 x 18 30 5 / 112 C.R. 521 808 001 055 257 664  

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 055 257 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 055 257 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 055 257 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 055 257 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 055 257 664  

         

         

         

         

         



All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 

wheels. It contains 16/20 or 24 Screw or Nut, together with 4 aluminium center rings where required. 

 

MERCEDES 
CAR TYPE TYPE SIZE ET H / PCD CENTER WHEEL 

CODE 
KIT CODE NOTE 

CLK-KLASSE  (Type 209) PCD 5 / 112 - Hub Ø66.5 – Screw M12 x 1.5 17 HEX 

 501 8.0 x 18 30 5 / 112 C.R. 501 808 001 055 257 664  

 501 9.5 x 18 30 5 / 112 C.R. 501 958 001 055 257 664 Rear Axle 

 505 8.0 x 18 30 5 / 112 C.R. 505 808 001 055 257 664  

 505 9.0 x 18 30 5 / 112 C.R. 505 908 001 055 257 664 Rear Axle 

 521 8.0 x 18 30 5 / 112 C.R. 521 808 001 055 257 664  

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 055 257 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 055 257 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 055 257 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 055 257 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 055 257 664  

CLS-KLASSE 01/2011 (Type 218) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 505 9.0 x 18 30 5 / 112 C.R. 505 908 001 095 457 664  

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 095 457 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 095 457 664 Rear Axle 

 501 9.5 x 19 40 5 / 112 C.R. 501 959 002 095 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 095 457 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 095 457 664 Rear Axle 

 505 9.5 x 19 40 5 / 112 C.R. 505 959 002 095 457 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 095 457 664  

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 095 457 664  

 365 11.0 x 20 32 5 / 112 C.R. 365 110 002 095 457 664 Rear Axle 

 501 8.5 x 20 30 5 / 112 C.R. 501 850 001 095 457 664  

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 095 457 664  

 501 10.5 x 20 30 5 / 112 C.R. 501 150 001 095 457 664 Rear Axle 

 501 10.5 x 20 40 5 / 112 C.R. 501 150 002 095 457 664 Rear Axle 

 503 9.0 x 20 30 5 / 112 C.R. 503 900 001 095 457 664  

 503 10.5 x 20 40 5 / 112 C.R. 503 150 001 095 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 095 457 664  

 505 10.5 x 20 30 5 / 112 C.R. 505 150 001 095 457 664 Rear Axle 

 505 10.5 x 20 40 5 / 112 C.R. 505 150 002 095 457 664 Rear Axle 

 509 9.0 x 20 35 5 / 112 C.R. 509 900 001 095 457 664  

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 095 457 664  

CLS-KLASSE 03/200412/2010 (Type 219) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 035 457 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 035 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 035 457 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 035 457 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 095 457 664  

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 065 457 664  

 365 11.0 x 20 32 5 / 112 C.R. 365 110 002 065 457 664 Rear+5mm Sp. 

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 035 457 664  

 501 10.5 x 20 30 5 / 112 C.R. 501 150 001 035 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 035 457 664  

 505 10.5 x 20 30 5 / 112 C.R. 505 150 001 035 457 664 Rear Axle 

 509 9.0 x 20 35 5 / 112 C.R. 509 900 001 035 457 664  

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 035 457 664  

         

         

         

         

         

         

         

         

         

         

         

         

         

         



All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 

wheels. It contains 16/20 or 24 Screw or Nut, together with 4 aluminium center rings where required. 

 

MERCEDES 
CAR TYPE TYPE SIZE ET H / PCD CENTER WHEEL 

CODE 
KIT CODE NOTE 

CLS 55 AMG 03/200403/2007 (Type 219) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 035 457 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 035 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 035 457 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 035 457 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 095 457 664  

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 065 457 664  

 365 11.0 x 20 32 5 / 112 C.R. 365 110 002 065 457 664 Rear+5mm Sp. 

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 035 457 664  

 501 10.5 x 20 30 5 / 112 C.R. 501 150 001 035 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 035 457 664  

 505 10.5 x 20 30 5 / 112 C.R. 505 150 001 035 457 664 Rear Axle 

 509 9.0 x 20 35 5 / 112 C.R. 509 900 001 035 457 664  

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 035 457 664  

CLS 63 AMG 03/200712/2010 (Type 219) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 035 457 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 035 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 035 457 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 035 457 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 095 457 664  

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 065 457 664  

 365 11.0 x 20 32 5 / 112 C.R. 365 110 002 065 457 664 Rear+5mm Sp. 

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 035 457 664  

 501 10.5 x 20 30 5 / 112 C.R. 501 150 001 035 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 035 457 664  

 505 10.5 x 20 30 5 / 112 C.R. 505 150 001 035 457 664 Rear Axle 

 509 9.0 x 20 35 5 / 112 C.R. 509 900 001 035 457 664  

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 035 457 664  

E-KLASSE 03/200201/2009 (Type 211) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

* Except E420 CDI (231kw) 501* 8.0 x 18 30 5 / 112 C.R. 501 808 001 095 457 664  

 501* 9.5 x 18 30 5 / 112 C.R. 501 958 001 095 457 664 Rear Axle 

 505* 8.0 x 18 30 5 / 112 C.R. 505 808 001 095 457 664  

 505* 9.0 x 18 30 5 / 112 C.R. 505 908 001 095 457 664 Rear Axle 

 521* 8.0 x 18 30 5 / 112 C.R. 521 808 001 095 457 664  

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 095 457 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 095 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 095 457 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 095 457 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 095 457 664  

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 095 457 664  

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 095 457 664  

 501 10.5 x 20 30 5 / 112 C.R. 501 150 001 095 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 095 457 664  

 505 10.5 x 20 30 5 / 112 C.R. 505 150 001 095 457 664 Rear Axle 

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 095 457 664  

         

         

         

         

         

         

         

         

         

         

         

         

         

         

         

         



All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 

wheels. It contains 16/20 or 24 Screw or Nut, together with 4 aluminium center rings where required. 

 

MERCEDES 
CAR TYPE TYPE SIZE ET H / PCD CENTER WHEEL 

CODE 
KIT CODE NOTE 

E-KLASSE 01/2009 (Type 212) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.0 x 18 30 5 / 112 C.R. 501 808 001 095 457 664  

 501 8.0 x 18 40 5 / 112 C.R. 501 808 002 095 457 664  

 501 8.0 x 18 48 5 / 112 C.R. 501 808 003 095 457 664  

 501 9.5 x 18 40 5 / 112 C.R. 501 958 002 095 457 664 Rear Axle 

 505 8.0 x 18 30 5 / 112 C.R. 505 808 001 095 457 664  

 505 8.0 x 18 40 5 / 112 C.R. 505 808 002 095 457 664  

 505 8.0 x 18 48 5 / 112 C.R. 505 808 003 095 457 664  

 505 9.0 x 18 40 5 / 112 C.R. 505 908 002 095 457 664 Rear Axle 

 521 8.0 x 18 30 5 / 112 C.R. 521 808 001 095 457 664  

 521 8.0 x 18 40 5 / 112 C.R. 521 808 002 095 457 664  

 521 8.0 x 18 48 5 / 112 C.R. 521 808 003 095 457 664  

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 095 457 664  

 501 8.5 x 19 40 5 / 112 C.R. 501 859 002 095 457 664  

 501 8.5 x 19 48 5 / 112 C.R. 501 859 003 095 457 664  

 501 9.5 x 19 40 5 / 112 C.R. 501 959 002 095 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 095 457 664  

 505 8.5 x 19 40 5 / 112 C.R. 505 859 002 095 457 664  

 505 8.5 x 19 48 5 / 112 C.R. 505 859 003 095 457 664  

 505 9.0 x 19 40 5 / 112 C.R. 505 959 002 095 457 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 095 457 664  

 521 8.5 x 19 40 5 / 112 C.R. 521 859 002 095 457 664  

 521 8.5 x 19 48 5 / 112 C.R. 521 859 003 095 457 664  

 365 9 x 20 40 5 / 112 C.R. 365 900 002 095 457 664  

 501 8.5 x 20 40 5 / 112 C.R. 501 850 002 095 457 664  

 501 10.5 x 20 40 5 / 112 C.R. 501 150 002 095 457 664 Rear Axle 

 505 8.5 x 20 40 5 / 112 C.R. 505 850 002 095 457 664  

 505 10.5 x 20 40 5 / 112 C.R. 505 150 002 095 457 664 Rear Axle 

 521 8.5 x 20 40 5 / 112 C.R. 521 850 002 095 457 664  

E-KLASSE T-MODEL 01/2009 (Type 212K) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.0 x 18 30 5 / 112 C.R. 501 808 001 095 457 664  

 501 8.0 x 18 40 5 / 112 C.R. 501 808 002 095 457 664  

 501 8.0 x 18 48 5 / 112 C.R. 501 808 003 095 457 664  

 501 9.5 x 18 40 5 / 112 C.R. 501 958 002 095 457 664 Rear Axle 

 505 8.0 x 18 30 5 / 112 C.R. 505 808 001 095 457 664  

 505 8.0 x 18 40 5 / 112 C.R. 505 808 002 095 457 664  

 505 8.0 x 18 48 5 / 112 C.R. 505 808 003 095 457 664  

 505 9.0 x 18 40 5 / 112 C.R. 505 908 002 095 457 664 Rear Axle 

 521 8.0 x 18 30 5 / 112 C.R. 521 808 001 095 457 664  

 521 8.0 x 18 40 5 / 112 C.R. 521 808 002 095 457 664  

 521 8.0 x 18 48 5 / 112 C.R. 521 808 003 095 457 664  

 501 8.5 x 19 40 5 / 112 C.R. 501 859 002 095 457 664  

 501 9.5 x 19 40 5 / 112 C.R. 501 959 002 095 457 664 Rear Axle 

 505 8.5 x 19 40 5 / 112 C.R. 505 859 002 095 457 664  

 505 9.5 x 19 40 5 / 112 C.R. 505 959 002 095 457 664 Rear Axle 

 521 8.5 x 19 40 5 / 112 C.R. 521 859 002 095 457 664  

E-KLASSE T-MODEL 4-MATIC 01/2009 (Type 212K) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.0 x 18 40 5 / 112 C.R. 501 808 002 095 457 664  

 501 8.0 x 18 48 5 / 112 C.R. 501 808 003 095 457 664  

 501 9.5 x 18 40 5 / 112 C.R. 501 958 002 095 457 664 Rear Axle 

 505 8.0 x 18 40 5 / 112 C.R. 505 808 002 095 457 664  

 505 8.0 x 18 48 5 / 112 C.R. 505 808 003 095 457 664  

 505 9.0 x 18 40 5 / 112 C.R. 505 908 002 095 457 664 Rear Axle 

 521 8.0 x 18 40 5 / 112 C.R. 521 808 002 095 457 664  

 521 8.0 x 18 48 5 / 112 C.R. 521 808 003 095 457 664  

         

         

         

         

         

         



All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 

wheels. It contains 16/20 or 24 Screw or Nut, together with 4 aluminium center rings where required. 

 

MERCEDES 
CAR TYPE TYPE SIZE ET H / PCD CENTER WHEEL 

CODE 
KIT CODE NOTE 

E-KLASSE COUPE’/CABRIO 01/2009 (Type 207) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.0 x 18 40 5 / 112 C.R. 501 808 002 095 457 664  

 505 8.0 x 18 40 5 / 112 C.R. 505 808 002 095 457 664  

 521 8.0 x 18 40 5 / 112 C.R. 521 808 002 095 457 664  

 501 8.5 x 19 40 5 / 112 C.R. 501 859 002 095 457 664  

 501 9.5 x 19 40 5 / 112 C.R. 501 959 002 095 457 664 Rear Axle 

 505 8.5 x 19 40 5 / 112 C.R. 505 859 002 095 457 664  

 505 9.5 x 19 40 5 / 112 C.R. 505 959 002 095 457 664 Rear Axle 

 521 8.5 x 19 40 5 / 112 C.R. 521 859 002 095 457 664  

E55 AMG 03/200203/2006 (Type 211) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 40 5 / 112 C.R. 501 859 002 095 457 664  

 501 9.5 x 19 40 5 / 112 C.R. 501 959 002 095 457 664 Rear Axle 

 505 8.5 x 19 40 5 / 112 C.R. 505 859 002 095 457 664  

 505 9.5 x 19 40 5 / 112 C.R. 505 959 002 095 457 664 Rear Axle 

 521 8.5 x 19 40 5 / 112 C.R. 521 859 002 095 457 664  

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 065 457 664  

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 035 457 664  

 501 10.5 x 20 30 5 / 112 C.R. 501 150 001 035 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 035 457 664  

 505 10.5 x 20 30 5 / 112 C.R. 505 150 001 035 457 664 Rear Axle 

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 035 457 664  

E63 AMG 03/2006 (Type 212) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 035 457 664  

 501 9.5 x 19 40 5 / 112 C.R. 501 959 002 035 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 035 457 664  

 505 9.5 x 19 40 5 / 112 C.R. 505 959 002 035 457 664 Rear Axle 

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 035 457 664  

 501 10.5 x 20 40 5 / 112 C.R. 501 150 002 035 457 664 Rear Axle 

GLK-KLASSE 09/2008 (Type 204X) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.0 x 18 40 5 / 112 C.R. 501 808 002 095 457 664  

 505 8.0 x 18 40 5 / 112 C.R. 505 808 002 095 457 664  

 521 8.0 x 18 40 5 / 112 C.R. 521 808 002 095 457 664  

 501 8.5 x 19 40 5 / 112 C.R. 501 859 002 095 457 664  

 505 8.5 x 19 40 5 / 112 C.R. 505 859 002 095 457 664  

 521 8.5 x 19 40 5 / 112 C.R. 521 859 002 095 457 664  

 365 9.0 x 20 40 5 / 112 C.R. 365 900 002 095 457 664  

 501 8.5 x 20 30 5 / 112 C.R. 501 850 001 095 457 664  

 501 8.5 x 20 40 5 / 112 C.R. 501 850 002 095 457 664  

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 095 457 664 More Aggressive 

 503 9.0 x 20 30 5 / 112 C.R. 503 900 001 095 457 664 More Aggressive 

 503 9.0 x 20 40 5 / 112 C.R. 503 900 002 095 457 664  

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 095 457 664  

 505 8.5 x 20 40 5 / 112 C.R. 505 850 002 095 457 664  

 509 9.0 x 20 35 5 / 112 C.R. 509 900 001 095 457 664  

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 095 457 664  

 521 8.5 x 20 40 5 / 112 C.R. 521 850 002 095 457 664  

 503 9.0 x 22 30 5 / 112 C.R. 503 902 002 095 457 664  

GL-KLASSE 01/2006 (Type 164G) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

** With 8mm Spacer 389 9.5 x 20 52 5 / 112 66.5 389 950 001 035 457 000  

 503 9.0 x 20 50 5 / 112 66.5 503 900 003 035 457 000  

    and kit 075 457 664  509 9.0 x 20 50 5 / 112 66.5 509 900 002 035 457 000  

    regarding TÜV norms 365** 10.0 x 22 60 5 / 112 66.5 365 102 001 035 457 000  

 389 10.0 x 22 52 5 / 112 66.5 389 102 001 035 457 000  

 503 10.0 x 22 52 5 / 112 66.5 503 102 002 035 457 000  

 509 10.0 x 22 52 5 / 112 66.5 509 102 001 035 457 000  

         

         

         

         



All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 

wheels. It contains 16/20 or 24 Screw or Nut, together with 4 aluminium center rings where required. 

 

MERCEDES 
CAR TYPE TYPE SIZE ET H / PCD CENTER WHEEL 

CODE 
KIT CODE NOTE 

M-KLASSE 11/2011 (Type 166) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.0 x 18 40 5 / 112 C.R. 501 808 002 095 457 664  

 505 8.0 x 18 40 5 / 112 C.R. 505 808 002 095 457 664  

 521 8.0 x 18 40 5 / 112 C.R. 521 808 002 095 457 664  

 501 8.5 x 19 40 5 / 112 C.R. 501 859 002 035 457 664  

 501 8.5 x 19 48 5 / 112 C.R. 501 859 003 035 457 664  

 501 9.5 x 19 40 5 / 112 C.R. 501 959 001 035 457 664 Rear Axle 

 505 8.5 x 19 40 5 / 112 C.R. 505 859 002 035 457 664  

 505 8.5 x 19 48 5 / 112 C.R. 505 859 003 035 457 664  

 505 9.5 x 19 40 5 / 112 C.R. 505 959 001 035 457 664 Rear Axle 

 521 8.5 x 19 40 5 / 112 C.R. 521 859 002 035 457 664  

 521 8.5 x 19 48 5 / 112 C.R. 521 859 003 035 457 664  

 389 9.5 x 20 52 5 / 112 66.5 389 950 001 035 457 000  

 501 8.5 x 20 40 5 / 112 C.R. 501 850 002 035 457 664  

 503 9.0 x 20 50 5 / 112 C.R. 503 850 003 035 457 664  

 505 8.5 x 20 40 5 / 112 C.R. 505 850 002 035 457 664  

 521 8.5 x 20 40 5 / 112 C.R. 521 850 002 035 457 664  

 509 9.0 x 20 50 5 / 112 C.R. 509 850 002 035 457 664  

 365 10.0 x 22 60 5 / 112 66.6 365 102 001 065 457 000  

 389 10.0 x 22 52 5 / 112 66.5 389 102 001 035 457 000  

 503 10.0 x 22 40 5 / 112 C.R. 503 102 001 035 457 664  

 503 10.0 x 22 52 5 / 112 66.5 503 102 002 035 457 000  

 509 10.0 x 22 52 5 / 112 66.5 509 102 001 035 457 000  

M-KLASSE 01/200510/2011 (Type 164) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

* Except ML500 (285kw) 501* 8.0 x 18 48 5 / 112 C.R. 501 808 003 035 457 664  

 505* 8.0 x 18 48 5 / 112 C.R. 505 808 003 035 457 664  

 521 8.0 x 18 48 5 / 112 C.R. 521 808 003 095 457 664  

 501 8.5 x 19 48 5 / 112 C.R. 501 859 003 035 457 664  

 501 9.5 x 19 40 5 / 112 C.R. 501 959 001 035 457 664 Rear Axle 

 505 8.5 x 19 48 5 / 112 C.R. 505 859 003 035 457 664  

 505 9.5 x 19 40 5 / 112 C.R. 505 959 001 035 457 664 Rear Axle 

 521 8.5 x 19 48 5 / 112 C.R. 521 859 003 035 457 664  

 389 9.5 x 20 52 5 / 112 66.5 389 950 001 035 457 000  

 501 8.5 x 20 40 5 / 112 C.R. 501 850 002 035 457 664 Front Axle 

 501 10.5 x 20 40 5 / 112 C.R. 501 150 002 035 457 664 Rear Axle 

 503 9.0 x 20 50 5 / 112 C.R. 503 850 003 035 457 664 Front Axle 

 503 9.0 x 20 40 5 / 112 C.R. 503 850 002 035 457 664 Front Axle 

 503 10.5 x 20 40 5 / 112 C.R. 503 150 001 035 457 664 Rear Axle 

 505 8.5 x 20 40 5 / 112 C.R. 505 850 002 035 457 664 Front Axle 

 505 10.5 x 20 40 5 / 112 C.R. 505 150 002 035 457 664 Rear Axle 

 521 8.5 x 20 40 5 / 112 C.R. 521 850 002 035 457 664  

 509 9.0 x 20 50 5 / 112 C.R. 509 850 002 035 457 664  

 365 10.0 x 22 60 5 / 112 66.6 365 102 001 065 457 000  

 389 10.0 x 22 52 5 / 112 66.5 389 102 001 035 457 000  

 503 10.0 x 22 40 5 / 112 C.R. 503 102 001 035 457 664  

 503 10.0 x 22 52 5 / 112 66.5 503 102 002 035 457 000  

 509 10.0 x 22 52 5 / 112 66.5 509 102 001 035 457 000  

ML63 AMG 06/2005 (Type 164) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 10.5 x 20 40 5 / 112 C.R. 501 150 002 035 457 664  

 503 10.5 x 20 40 5 / 112 C.R. 503 150 001 035 457 664  

 505 10.5 x 20 40 5 / 112 C.R. 505 150 002 035 457 664  

 503 10.0 x 22 40 5 / 112 C.R. 503 102 001 035 457 664  

         

         

         

         

         

         

         

         

         



All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 

wheels. It contains 16/20 or 24 Screw or Nut, together with 4 aluminium center rings where required. 

 

MERCEDES 
CAR TYPE TYPE SIZE ET H / PCD CENTER WHEEL 

CODE 
KIT CODE NOTE 

R-KLASSE 04/2005 (Type 251) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

* Except R500 (285kw) 501* 8.0 x 18 40 5 / 112 C.R. 501 808 002 035 457 664 More aggressive 

 501* 8.0 x 18 48 5 / 112 C.R. 501 808 003 035 457 664  

 505* 8.0 x 18 40 5 / 112 C.R. 505 808 002 035 457 664 More aggressive 

 505* 8.0 x 18 48 5 / 112 C.R. 505 808 003 035 457 664  

 521* 8.0 x 18 40 5 / 112 C.R. 521 808 002 035 457 664 More aggressive 

 521* 8.0 x 18 48 5 / 112 C.R. 521 808 003 035 457 664  

 501 8.5 x 19 40 5 / 112 C.R. 501 859 002 035 457 664 More aggressive 

 501 8.5 x 19 48 5 / 112 C.R. 501 859 003 035 457 664  

 505 8.5 x 19 40 5 / 112 C.R. 505 859 002 035 457 664 More aggressive 

 505 8.5 x 19 48 5 / 112 C.R. 505 859 003 035 457 664  

 521 8.5 x 19 40 5 / 112 C.R. 521 859 002 035 457 664 More aggressive 

 521 8.5 x 19 48 5 / 112 C.R. 521 859 003 035 457 664  

 389 9.5 x 20 52 5 / 112 66.5 389 950 001 035 457 000  

 501 8.5 x 20 40 5 / 112 C.R. 501 850 002 035 457 664  

 503 9.0 x 20 50 5 / 112 C.R. 503 900 003 065 457 000  

 505 8.5 x 20 40 5 / 112 C.R. 505 850 002 035 457 664  

 509 9.0 x 20 50 5 / 112 C.R. 509 900 002 065 457 000  

 521 8.5 x 20 40 5 / 112 C.R. 521 850 002 035 457 664  

 389 10.0 x 22 52 5 / 112 66.5 389 102 001 035 457 000  

 503 10.0 x 22 52 5 / 112 66.5 503 102 002 035 457 000  

 509 10.0 x 22 52 5 / 112 66.5 509 102 001 035 457 000  

R63 AMG 01/200701/2008 (Type 251) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 365 10.0 x 22 60 5 / 112 66.6 365 102 001 035 457 000  

 389 10.0 x 22 52 5 / 112 66.5 389 102 001 035 457 000  

 503 10.0 x 22 52 5 / 112 66.5 503 102 002 035 457 000  

 509 10.0 x 22 52 5 / 112 66.5 509 102 001 035 457 000  

S-KLASSE 09/2005 (Type 221) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

* Except S600 (380kw) 501* 8.0 x 18 30 5 / 112 C.R. 501 808001 095 457 664  

 501* 9.5 x 18 30 5 / 112 C.R. 501 958 001 095 457 664 Rear Axle 

 505* 8.0 x 18 30 5 / 112 C.R. 505 808 001 095 457 664  

 505* 9.0 x 18 30 5 / 112 C.R. 505 908 001 095 457 664 Rear Axle 

 521* 8.0 x 18 30 5 / 112 C.R. 521 808 001 095 457 664  

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 095 457 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 095 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 095 457 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 095 457 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 095 457 664  

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 095 457 664  

 501 8.5 x 20 30 5 / 112 C.R. 501 850 001 095 457 664  

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 095 457 664  

 501 10.5 x 20 40 5 / 112 C.R. 501 150 002 095 457 664 Rear Axle 

 503 9.0 x 20 30 5 / 112 C.R. 503 900 001 095 457 664  

 503 10.5 x 20 40 5 / 112 C.R. 503 150 002 095 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 095 457 664  

 505 10.5 x 20 40 5 / 112 C.R. 505 150 002 095 457 664 Rear Axle 

 509 9.0 x 20 35 5 / 112 C.R. 509 900 001 095 457 664  

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 095 457 664  

         

         

         

         

         

         

         

         

         

         

         

         

         



All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 

wheels. It contains 16/20 or 24 Screw or Nut, together with 4 aluminium center rings where required. 

 

MERCEDES 
CAR TYPE TYPE SIZE ET H / PCD CENTER WHEEL 

CODE 
KIT CODE NOTE 

S63 AMG 09/2005 (Type 221) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 095 457 664 Front Axle 

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 095 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 095 457 664 Front Axle 

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 095 457 664 Rear Axle 

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 095 457 664  

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 095 457 664 Front Axle 

 501 10.5 x 20 40 5 / 112 C.R. 501 150 002 095 457 664 Rear Axle 

 503 9.0 x 20 30 5 / 112 C.R. 503 900 001 095 457 664 Front Axle 

 503 10.5 x 20 40 5 / 112 C.R. 503 150 002 095 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 095 457 664 Front Axle 

 505 10.5 x 20 40 5 / 112 C.R. 505 150 002 095 457 664 Rear Axle 

 509 9.0 x 20 35 5 / 112 C.R. 509 900 001 095 457 664  

S65 AMG 09/2005 (Type 221) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 095 457 664 Front Axle 

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 095 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 095 457 664 Front Axle 

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 095 457 664 Rear Axle 

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 095 457 664  

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 095 457 664 Front Axle 

 501 10.5 x 20 40 5 / 112 C.R. 501 150 002 095 457 664 Rear Axle 

 503 9.0 x 20 30 5 / 112 C.R. 503 900 001 095 457 664 Front Axle 

 503 10.5 x 20 40 5 / 112 C.R. 503 150 002 095 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 095 457 664 Front Axle 

 505 10.5 x 20 40 5 / 112 C.R. 505 150 002 095 457 664 Rear Axle 

 509 9.0 x 20 35 5 / 112 C.R. 509 900 001 095 457 664  

SLK 04/2011 (Type 172) PCD 5 / 112 - Hub Ø66.5 – Screw M12 x 1.5 17 HEX 

 501 8.0 x 18 30 5 / 112 C.R. 501 808 001 055 257 664  

 501 9.5 x 18 30 5 / 112 C.R. 501 958 001 055 257 664 Rear Axle 

 505 8.0 x 18 30 5 / 112 C.R. 505 808 001 055 257 664  

 505 9.0 x 18 30 5 / 112 C.R. 505 908 001 055 257 664 Rear Axle 

 521 8.0 x 18 30 5 / 112 C.R. 521 808 001 055 257 664  

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 055 257 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 055 257 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 055 257 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 055 257 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 055 257 664  

SLK 01/200403-2011 (Type 171) PCD 5 / 112 - Hub Ø66.5 – Screw M12 x 1.5 17 HEX 

 501 8.0 x 18 30 5 / 112 C.R. 501 808 001 055 257 664  

 501 9.5 x 18 30 5 / 112 C.R. 501 958 001 055 257 664 Rear Axle 

 505 8.0 x 18 30 5 / 112 C.R. 505 808 001 055 257 664  

 505 9.0 x 18 30 5 / 112 C.R. 505 908 001 055 257 664 Rear Axle 

 521 8.0 x 18 30 5 / 112 C.R. 521 808 001 055 257 664  

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 055 257 664 Body work 

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 055 257 664 Rear+Body work 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 055 257 664 Body work 

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 055 257 664 Rear+Body work 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 055 257 664 Body work 

SLK55 AMG 01/2004 (Type 171) PCD 5 / 112 - Hub Ø66.5 – Screw M12 x 1.5 17 HEX 

 501 8.0 x 18 30 5 / 112 C.R. 501 808 001 055 257 664 Front Axle 

 501 9.5 x 18 30 5 / 112 C.R. 501 958 001 055 257 664 Rear Axle 

 505 8.0 x 18 30 5 / 112 C.R. 505 808 001 055 257 664 Front Axle 

 505 9.0 x 18 30 5 / 112 C.R. 505 908 001 055 257 664 Rear Axle 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 055 257 664 Front Axle 

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 055 257 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 055 257 664 Front Axle 

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 055 257 664 Rear Axle 

         

         



All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 

wheels. It contains 16/20 or 24 Screw or Nut, together with 4 aluminium center rings where required. 

 

MERCEDES 
CAR TYPE TYPE SIZE ET H / PCD CENTER WHEEL 

CODE 
KIT CODE NOTE 

SL-KLASSE 2012(Type 231) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 035 457 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 035 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 035 457 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 035 457 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 035 457 664  

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 065 457 664  

 365 11.0 x 20 32 5 / 112 C.R. 365 110 002 065 457 664 Rear Axle 

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 035 457 664  

 501 10.5 x 20 30 5 / 112 C.R. 501 150 001 035 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 035 457 664  

 505 10.5 x 20 30 5 / 112 C.R. 505 150 001 035 457 664 Rear Axle 

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 035 457 664  

SL-KLASSE 06/200103/2008 (Type 230) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 035 457 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 035 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 035 457 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 035 457 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 035 457 664  

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 065 457 664  

 365 11.0 x 20 32 5 / 112 C.R. 365 110 002 065 457 664 Rear Axle 

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 035 457 664  

 501 10.5 x 20 30 5 / 112 C.R. 501 150 001 035 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 035 457 664  

 505 10.5 x 20 30 5 / 112 C.R. 505 150 001 035 457 664 Rear Axle 

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 035 457 664  

SL 55 AMG 06/200103/2006 (Type 230) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 501 8.5 x 19 30 5 / 112 C.R. 501 859 001 035 457 664  

 501 9.5 x 19 30 5 / 112 C.R. 501 959 001 035 457 664 Rear Axle 

 505 8.5 x 19 30 5 / 112 C.R. 505 859 001 035 457 664  

 505 9.5 x 19 30 5 / 112 C.R. 505 959 001 035 457 664 Rear Axle 

 521 8.5 x 19 30 5 / 112 C.R. 521 859 001 035 457 664  

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 065 457 664  

 365 11.0 x 20 32 5 / 112 C.R. 365 110 002 065 457 664 Rear Axle 

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 035 457 664  

 501 10.5 x 20 30 5 / 112 C.R. 501 150 001 035 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 035 457 664  

 505 10.5 x 20 30 5 / 112 C.R. 505 150 001 035 457 664 Rear Axle 

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 035 457 664  

SL65 AMG 03/200603/2008 (Type 230) PCD 5 / 112 - Hub Ø66.5 – Screw M14 x 1.5 17 HEX 

 365 9.0 x 20 30 5 / 112 C.R. 365 900 001 065 457 664  

 365 11.0 x 20 32 5 / 112 C.R. 365 110 002 065 457 664 Rear Axle 

 501 9.0 x 20 30 5 / 112 C.R. 501 900 001 035 457 664  

 501 10.5 x 20 30 5 / 112 C.R. 501 150 001 035 457 664 Rear Axle 

 505 8.5 x 20 30 5 / 112 C.R. 505 850 001 035 457 664  

 505 10.5 x 20 30 5 / 112 C.R. 505 150 001 035 457 664 Rear Axle 

 521 8.5 x 20 30 5 / 112 C.R. 521 850 001 035 457 664  

         

         

         

         

         

         

         

         

         

         

         

         

 


